FAFERET R

(LT BlER [BhER| #%E [BHHE|HERE
RE-MEAARREE - =T P-Blgaarn |mrem| o] o]
BE-BEAABROES A ABUE |BARBRE [ER#E| 46| 489 |
BE-BEAABRLEE A~ CBUE |BARBKAE |ERBE| 486 436 )
BE-BEAABRNEEES  TRUE|BARBRAE |ExBE| 1| 2 !
EE-BEAABRNEEES_ NBUE|BARBKAE |ExBE| 1| 2 o
BE-BEAABRNEEES= (BUE|EARBRAE |ExBE| 1| 1 o
AR REARARUSHERE 7t g ke (mawE| 8| )
EEEEMAﬁﬁmm%*‘:‘+‘+“@moﬁ%om mREE| 180 15 164
BE-BEAABRNEZ A ABWE |BARBRE |[ERSE| 1] 31| 14
BE-BE ABRNER A~ CEUE |BARBRE |[EaSE| 10| 04 s

BRHA M| 2,259 1,855 404
REREAAAREE = =¥ TR gk (mrEs| se4| 863 |
BE-BEAABREEZ A NBUE |BARBKAE |BLBAE| 68| 68 )
BE-BEAABRNEE ~ CBUE |BARBRAE |BLBA| o8] 68 )
GRS REARAREE = =Tt g ke (mrwm| w4l 97 197
BE-BEAABRNEZ A NBUE |EARBRAE |EL®E| 23] 102 171
BEZBEAABRNER A~ CEUE |BARBRE [mh@em| 03] 184 s

B L9 B b et 3,000 2,542 458
G BEAREREE T AT g ke (mEE| 08| 45| 45
BE-BEAABRLFZ  ABHE |BAABRE |Bm#ik| es1] 646 35
BE-BEAABROFE ~ CBUE |[BAABRE |Bm#ilk| el 61 9
RESBEAARREE = =+ TR g e |maEe| 20 s| a0
BEZBEAABROFZ A ABHE |[BAABRE |B@BL| 210 o o
EE-BEAABRRMERL -~ tREUE [BAAERE |[Eg#Hl 210 41 169

R A ANE | 2,900 1,824] 1,076
RETREAAAKME - = TR g ek |mmew| sl s o
BE-BEAABROFZ A ABHE |[BAABRE |BE#K| 4] 44 o
B BEAABROFE & CBUE |BAABRE |BE#K| 4] 444 o
BE-BEAABROEEES - +RUE |[AAABRE |sE#k| 0|  » o
BE-BEAABROEEEF - NBUE |[AAABRE |sm#ik| 0| o
RE_BNAAARAVEEE: \NGR SCEIRERERaR | n| o o
GEREAAAKURRERD A BB g e (mEew] 3| 3 )
FOSREAARRME = = T TR g tgrer |wE@e| 180 16| 164
BEZBEAABROFZ A ABUE |BAABRE |BE#K| 10| 6| e




FRTERET A

EHRER EUER (B ER| BERE |(ELEE |(HGEEE
EE-gEALEFREER A tERE [BALFKE |[BEAHA 180 51 129
BEFEE NG| 2,119 1,656 463

RE ERARERERS - TR B 40 16 24
EE-gE AAFRME= N> LERE BRI 30 23 7
EE-—-gE AAFRKMERL A tERE FE 7 1t 30 30 0
%%:@ﬁxﬁ}\ﬂ%ﬁ(m%g:{“{“ggﬁ V:E@ﬁﬁjt 40 8 )
EE-ge \AFRKME= N> LERE BRI 30 14 16
EE-ge \AFRKMERL A tERE BRI 30 18 12
FE B 83 3E N & 200 109 91

EE-#EALFHL R W E BAXKEESE | ERAH 80 40 40
EE-gEAAEROEZ ZBNE EAXKEESE | ERAH 80 46 34
FE R 7 D R 160 86 74

EE-gEAAEROE - TENE NGRS 116 99 17
EE-BEAABROUEZ Z“RBULE NN E:R A 116 108 8
L8R N Et 232 207 25

EE-BEAABROUE - ARERULE B A=K GEFIE (L 116 17 99
EE-BEAABROUEZ Z“RBULE B A=K GEFIE L 116 47 69
B 3 b 232 64 168

EE-BEAABROUE - ARERLE 8N 2K R R 80 40 40
EE-gEAARRAOE- ZBHE NN E:R AR 80 55 25
FE 75 8 N Bt 160 95 65

Ef-BgHIBELRE R A FE L % 624 586 38
B LSRN B 624 586 38

EfE-—-gHIBELRE R fir 75 8 R 328 143 185
FE 75 8 5N Bt 328 143 185

W 12,214 9,167| 3,047

SR A 109/05/29




